08PDO017

MATERIAL LIST

- ARD & 0 anpo
Menards Rapid City x4x16' SPF (Perling & Bracing) Sku#102-1143 AN A1)
Menards Rapld City 7116 X 4' X 8 0SB Sku #124-2728
Menards Rapid City 4 X 3 X @ Pine Trim (Ceiling) Sku #103-1528 Rarnid e . .-
Menards Rapid City Breaker 20 AMP Sk #367-4983 g Lo = 7w TWih
Menards Rapid City 2X6X10' AC2 Treated Sku #111-1037 adUdT e
Menards Rapid City 2X6X8' AC2 Treated Sku #111-1024 TR

Menards Rapid City

2xBx18' Sku# 102-1936

2xBx18 Sku# 102-1800

Menards Rapid City
Menards Rapid City

2x6x10' Sku# 102-1721

Menards Rapid Gity 2x6x12' Skuit 102-1774
Menards Rapid City 2xBx8' Sku# 102-1884
Menards Rapid Cty 2x8x16' AC2 Green Treated Sku#i11-1367

Menards Rapid GCity

1x6x16' AC2 Green Troated Sku#111-0355

Menards Rapid City

2X4X%16' AC2 Green Treated

Menards Rapid City

2x6x8' AC2 Green Treated

Menards Rapid City

1X4X12' Standard {Gable End & Frames for Siding} Sku #103-1036

Menards Rapid Gity

2X6X10' SPF_ Sku #102-1761

Menards Rapid City

1X6X12' Standards (Gable £nd Truss for Siding) Sku #103-1133

Menards Rapid City

2X6X8' SPF_Sku #102-1758

Menards Rapid City

11/2" Joist Hanger Nails (FTC 1 "H" Clip) Sku #227-1442

Menards Rapid City

2X12X12' SPF (Starway Header)  Sku #102-2168

Menards Rapid City

3/8" Galvanized Washer Sku #232-495¢

Menards Rapid City

6 3/4" X 23" X 39’ 2" Batt Insulation _Sku #164.7793

Menards Rapid City

R19 Unfaced Insulation (16" 0.C) Sku# 161-7641

Menards Rapid City 4' Baseboard Heater, 208V Sku #335-4003
Menards Rapid City 8 X 25'4 MIL. Poly Sku #568-G040

(Menards Rapid City Baseboard Thermostal Sku#335-4031

Menards Rapid City Keyed Exterior Aluminum Door Handles

Menards Rapig City 4’ - 2 Tube Flourescent Light, 120V Sku #348-0070

Menards Rapid City

6'x250' Landscape Fabric Sku#268-1137

Menards Rapid City

2x6x10' AC2 Green Freated (Horizontal Fence Girts)

Menards Rapid City

3" Stainless Steel Screws for 2x8 vertical boards fasten at sach git Sku#229-0821 {3 each for wood girt and 2 each per
metal girt) 5# box

All Points Screw, Bolt, & Specialty

GR. 8 5/8" x 1 1/2" Bolt {Zee Girts Back of Whse)

All Points Screw, Bolt, & Specialty

17'% 4" Lag Bolt Galv (Angles to Concrete Slab @ Endwalls 3 ply 2 x & Clumns)

Ambagsidor Steel

8'%20' 4x4, 4/4 Mesh (25 Sht/Bndl)

Ambassidor Steal

3" Chairs (6" Floor Slab) (1/9 SF)(250/box)

wenard, Inc_Computer Department

Access Point #4

Custom Steel

Pallet Rack Light Arms

Daybrite C/O Ald, Ine,(1)

EHO 400M27-AR19-LMG, wiwhite Ballast Cover, 400 Watt, Pnsmatic Bay, white housing, €' white cord & plug, 19" acryhic
reflector, Gommetted suspension loop 5 year warranty on ballast and 10 years against lense yellowing

Daybrite C/Q Ald, Inc.(1)

SBX400MMT-MC3-A SF-DBR Cut Off-Slipfitter Light 400W 277V 5 year warranty

Daybnte CIO Ald, Ine.{1}

SBX400M27-MC3-MC10-DBR Cut Off Light, 400W, MH, For Light Pole. Or Wall Mount for Building. Circle One 5 year
warranty

Daybnte C/O Ald, Inc.{1}

400W Metal Halide Lamp, Clear, Mogul Base, Universal Burn.1 year warranty Sylvainia SBX 4C0MMT-MC3-A

Daybnte C/O Ald, Inc {1}

CLI-475 M27 MH-277V, 175W MH (Warehouse Overhang or TRT. Bd Rack Walkway) 5 year mogel base, surfacemount

Daybnte C/O Ald, Inc.(1}

175 Watt Metal Halide Lamp, Glear, Mogule Base, Universal Burn. 1 year warranty Sylvainia

Daybrite GO Ald, Inc.(1)

VCRW Exit/Emergency Combo lights 120/277V Off White 5 Year Warranty

Daybrite G/ Ald, Inc (1)

MVR3IS0/CABUMM/XHO, Coated Lamp 360 Watt Metal Halide (Use for 400W EHO-400M27-AR19-LMG) (Light
Fixtuse) (6/Ctn) 1 year warranty GE

Daybrite C/Q Ald, Inc (2)

250 Watt MH Lamp 1 year warranty

Eau Claire DC (Hardware)

5/16" X 4 1/2" Lag Bolt, (1600/EA) Sku#232-3167

Eau Clare DC (Hardware)

3/8" X 8" Galvanized Sku #232-4771

Eau Claire DC (Hardware)

5/16" X 6" Eye Bolt w/Nut (C.H. Lighting) Sku #225-5691

Fau Clare DC {Hardware)

5/16" % 6" Eye Lag Bolt Sku #226-5380

Eau Claire DC (Hardware)

3" Stainless Steel Screw Square Head 5# Box Sku#229-0821

Eau Claire DC {Hardware)

178" Quick Links,Sku # 235-1317 3/pkg

£au Claire DC {Hardware)

3/8" Galvanized Nut Sku #232-4917

Eau Claire DC {Hardware)

60D Ring Shank Sku #229-1804

[Eau Clare DC {Hardware)

#3 Twinloop Chain, Part {50 LF/Reel) 235-2057

Eau Claire DC (Hardware)

200 Ring Shank Sku #229-1778

Eay Claye DC {Hardware)

16D Common _Sku #229-1082

Plano DC (Lumber)

2% 4 % 20' SPF, (294/Unit) (Puslins, Cross Brace, Wind Bracing, and Walkway Suppord) Sku #102-1169

Piano DC (Lumber)

2 X 6 X 18' SPF, (189/Unit) Sku #102-1800

Eau Claire Faciliies

8"x7' Bollards

Gaynor & Assoclates

30 KVA 480V-208Y/120V Transformer TFMR #30T3H

(Gaynor & Associates

& Pole, 600 VAG 30A Lt Gontractor for Whse ovense switch elec. Room #5603-LGB0-V04




MATERIAL LIST

Gaynor & Asscciates

NF MB Panel W1 Board Interior - SQ.D. NF Panei board consisting of 480¥/277 VAC 3PH 4W 60 HZ SCCR-14K main’
1004 EDB circut breaker, incoming conductors:{#12-2/0 Al or {1)#14-2/0 Cu, bus aluminum, tin plating, ground bar, type
1 38"Hx20"WkE 75"D, incoming; bottom, surface widoor, box cat #MH38, frant cat¥NC38S, REF drawing; PBA 552,
branches, {30) 20A/1PEDB, Special' standard solid neutral

Gayner & Associates

NQOD M8 panel beard W2 interior NQOD panel board consisting of 208Y/120VAC 3PH 4W 80HZ SCCR- 10K Main.
100A QOB circuit breaker incoming conductors (1) #4-#2/0 Alf/Cu bus: Aiuminum, tin plating, ground bar, Type 1
29'HX20"W5.75"D Incoming' Bottom, surface widoor, box cat #MH29, front cat #MHC29S Ref. drawing PBA 503A,
branches: (1) 30A/2P QOB, {4} 20A 2P QOB, (19} 2CA/M1P QOB, 1 0} 20A/1P-PS QOB, Special, standard solid neutral

Gaynor & Assaciates

NF MB Pane! Board (int,box.frt) NF panel board consisting of 480Y/277 VAC 3PH 4W 60 HZ SCCR 42K Main. 400A LC
crrcuit breaker ULSE series rated incoming conductors.(2¥#4/0 AWG-50C kemil Bus Copper silveritin plating GU ground
AR type 1 74"H X 20"W X 8"D incoming bottorn surface w/door box cat#. MH74 front cat# NC74VS3 Ref Drawing PBA
554 branches (2) 100A/3P EDB; (1) 50A/3P EDB; (3) 30A/3P EDB, (18) 20AMP EDB, (2) 70A/3F EDB Special: Ship
completely assembled, copper solid neutral, 8" deep box

Gaynor & Associates

MH38 Box Panel W1 5Q. D _Standard Type 1 Box HGT 38"

ﬁ'ﬁaynor & Assoctates

NC 385 Front Panel Wi-SQ.D NF Type 1 Surface Trim FRT HGT 38

Gaynor & Associates

MH29 Box W2-SQ.D. Standard Type 1 Box HGT 2¢"

Gaynor & Associates

MHC29S Front Panel W2 SQ.D. NOOD Type 1 Surface Trim FRT HGT2¢

ITW Brands Flathead Tapcon 1/4" x 2 3/4" {Sfctn} #3189407
iTW Paslode 3" Ring Shank, Palsode Part#650385 round head, 2000 screws per box
Kelly Model EQD 7230 Mechanical Edge of Dock Levelers, 72" Wide, 30,000 LB Capacity with {2) 4" Thick x 13" x 12"
Heavy Duty Bumper Blocks Units to be Lever Handle Activated with Working Range 5" Above and Below Dock Hewht
K & K Material {Lever Handle Included) €00

National Store Fixtures

Structural Pallet Rack

PPG Indusiries

7-282/05 Interror/Extenor Industrial Gloss Qil, Super White, Interior Columns/int Guard Shack (845sf /Gal )

PPG Industries

7-808/05 Interar/Exterior, Industrial Qi Gloss Safety Yellow {Light pole bases and bollards)

Prehung Plant

3'x 68" Exterior, P1, Insulated Steet Door, LH Out Swing  Bore Door (No Dead Bolt), 6 9/16" Jamb And Threshold,
Include Weather Strpping

Prehung Plant

Door Closures, AL, Thru Bolts and Brackets

Primus Marketing

C125-176 Honzontal Luminaire, 400W MH (white light) 277V {Pail)

Primus Marketing

125-258CA277R3DG 250W HPS {orange light) 277V conrahead (street ight) to include sherding cap on top of the light

Midwest Manufactunng (Steel Plant)

1 172" Woodgnp-Emerald Green

Midwest Manyfacturing (Steel Plant)

1 1/2" Woodgrip-White

Midwest Manufaciurmg (Slee) Plant)

4 4/2" Woodgnp-Gray

Midwest Manufactuning (Steel Plant)

65" 26GA Emerald Green (Gable Ends)

Midwest Manufacturing (Steei Plant)

243" 28 Gauge White (Reof)

Midwest Manufacturing (Steel Plant)

36" 26 Gauge Emerald Green (Sides}

Midwest Manufacturing (Steel Plant) T-3 Emerald Green 12' T ey
Midwest Manufacturing (Steel Plant) T-1 Emerald Green 12' FHE LT Y 7o
Midwest Manufacturing (Steel Plant) T-7 Emerald Green 12' {O H. Door Jambs) Nl N g
Midwest Manufacturing (Steel Plany) T-5 Emerald Green 12' ML 1
Midwest Manufacturing {Steel Plant) T-8 Emeralg Green 12'

Midwest Manufacturing (Steel Plant) 36" Outside Closure Strips (Ridge Cap) APR o+ npl
Midwest Manufacturing {Steel Plant) Ridge Cap White 10' Sku 156-8412 &L LUUY
Midwest Manufacturing {Steel Plant) 58" 28 Gauge White (Roof) n

Midwest Manufacturing {Steel Plant) 7-10 Gray 12' R T AT

widwest Manufaciuring {Steel Plant) 11' Polycarbonate Skylights Sku #155-8771 Manoc.. 7 I Owth
Midwest Manufactunng {Stee! Plant) 216" emerald green 26A (front column) R EEE Y
iMidwest Manufacturing (Steel Plant) 2" White Wood Grip Screws (Roof) TR e

Midwest Manufacturing (Steel Plant}

1-1/2" Emeralg Green Wood Grip Screws

Midwest Manufacturing (Steel Plant}

White 3/4" Stitch Screw (Ridge Cap)

Midwest Manufacturing (Steel Plant}

2" Emerald Green Self Tap Screw

Midwest Manufacturing (Steel Plant)

266" White, 26GA (Front Roof Botlom Panel Iy

Midwest Manufacturing (Steel Plant)

11' Polycarbonate Skylights Sku #155-8771

Michwest Manufacturing (Steel Plant)

208" White, 26GA (Back Roof Bottom biwn skyfights Panel G)

Midwest Manufaciuring {Steel Plant)

268" White, 26GA {Back Roof Top above skylights Panel E)

Midwest Manufacturing (Steel Piani)

392" White, 26GA Front roof between LTS Panel A)

Midwest Manufacturing (Steel Plant)

301" White, 26GA {Back Rool-Top Betwn Skylights and Panel B)

Midwest Manufacturing (Steel Plant)

White Universal Ridge Cap 12'

Midwest Manufacturing (Steel Plant)

Quitside Closure Strip 4 Pack

Midwesti Manufacturing {Steel Plant)

T-7 Emerald Green Trim 12'

Midwest Manufacturing {Steel Plant)

T-1 Emerald Green Trim 12

IMidwest Manufacturing {Steel Plant)

Inside Closure Strip 4 Pack

Midwest Manufacturing {Steel Plant)

120" Emerald Green 26 GA

IMidwest Manufacturing {Steel Plant)

48" Emerald Green 26 GA Steel (Gable Ends Panel "F”)

Midwest Manufacturing (Steel Plant)

84" Emerald Green 26 GA (Gable Ends Panel "G")

Midwest Manufacturing_(Stee! Plant)

282" Emerald Green 26 GA (Gable Ends Panel "H")

Midwest Manufacturing (Steel Piant)

252" kmerald Green 38 GA (Gable Ends Pana! "I')

Midwest Manufaciuring (Steel Plant)

288" Emerald Green 26 GA Steel {Gable Ends Panel "J"}

Midwest Manufaciuring {Steel Plant)

J-Trim, Emerald Green, 2 X 6" Sku #156-6310




MATERIAL LIST

Midwest Manufacturing {Steel Plant)

1" Self tapping, hex head screw, 1# Emerald Green

Midwest Manufacturing (Steel Plant)

Vertical door trim, Emerald Grean, 10' Sku#156-6653

Midwesl Manufactunng (Steel Plant)

89" white, 20GA (SPR RM Walls)

Midwest Manufacturing (Steel Plant)

White Inside Corner 3" x3" x ¢

Midwest Manufactunng (Steel Plant)

9' T-3 White J-Trim

Migwest Manufacturing (Steel Plant)

120" White, 20GA (SPR RM Ceiling}

Midwest Manufacturing (Steel Plant)

10" Emerald Green spacaif trim fiash back warehouse to retaimng wall or slab 4 1/2" vertical down, 8 1/2" diagonal drop at
104 degrees, 2" vertical down

Midwest Manufacturing (Steel Plant)

Emerald Green Bottorn Trim 12'

au Claire DC (Treating Plant)

Bx8x24' SYP full sawn treated post

Eau Clare DC (Treating Plant)

2x6x18 T&G green treated center match (40/unit) Sku#109-1050

Eau Clare DC (Treating Plant)

2x4x18' AC2 treated (Vertical support) Sku#111-0863

Eau Claire DC (Treating Plant)

2x6x18' AC2 treated (Verlical support) Sku#111-1079

Eau Clare DC {Treating Plant)

2x10x18' AC2 treated (Vertical support)

Eau Claire DC {Treating Plant}

2x12x18' AC?Z treated (Fascia boards) Sku#111-1972

Eau Clarra DC {Treating Plant)

Bx6x18' AG2 treated post (long lungth lumber exp. Yard) Sku#109-8079

Eau Claire DC {Treating Plant)

16' Trealed Pole

Eau Claire DC {Treating Plant}

25' Treaied Pole

Eau Claire BC (Truss Plant)

1 Ply Trusses (Gate Canopy) T-11

Eau Clare DC (Truss Planty

Main Trusses (Verify size, Atlach cut shests)

Eay Clare DC (Truss Plant}

Main Trusses (Venify size, Atlach cut sheets)

Eau Claire DC (Truss Plant)

Truss frames BT2

Eau Claire DC (Truss Plant)

Truss frames TT3

Eau Claire DC (Truss Plant)

Truss frames TT2

Eau Claire DC (Truss Piant)

Truss frames TT1

Eau Claire DC (Truss Planf)

Truss frames BT4

Eau Claire DC (Truss Flant)

Truss frames TT4

Eau Clare DC (Truss Plant)

Truss frames 718

Eau Glare DC (Truss Plant)

Truss frames BT1

Eau Glaire DC (Truss Plant)

Truss frames BT3

Eau Claire DC (Truss Plant)

Truss frames BTS

Waiter Kiddie Company

#466143, 3A40BC Fire Extinguisher (5#)

Waiter Kiddie Company

#420119, Metal Mounting Brackets {comes in qty of 6)

Watter Kidaie Company

#446180, Pro5CDOM Fire Extinguisher

Watter Kiddie Company

#466142 Fire Extingwsher (2 &#)

Walter Kiddie Company #466031 Fire Extinguusher {10#)
Walter Kiddie Company #466208 Fire Extinguisher {20#)
Whitco C/Q Ald Yard wood pole arm - 8ft {for SBX slipfitter hght fixture) WPB-8-2-DB (5 year warranty)

Eau Clarre DC {Wocd Recycling)

Wood Ecology Mulch (2CF/Bag) Sku #180-3051

RECEIvEDp
APR 9 < 2008
Rapid Clr Crowty

anagemor T, Ttment






